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TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
eld 23— 0 0 1 0 3 3 0 7 7 2
il RZy o2 4 0 0 1 1 0 4x 10 11 0
[ MvPGETHE) | XA BX ZEEI
S 22 | ®l¥ 18 | KAAX 2% | | | | | |
[ MmvP@F) | MMk EE
[ wmagF | wesnk ok [ -7 | - [ F—rF ] - \ \ \ |
BF KA H 1-1 BiE 5 4-5 A XE 5-12 -2 N 7-10
H|FEEF £R BBF 1-1
HW: RaA—LX
TIIE 280 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 % & &2 & ™| & % #H=X
1 meg Kxn H2 —=n PN = 301 270
2 ZEE S ek #%an —R 2 .357
3 A KE E3:314 Plisind —® 3 .067
4 & S5 POk o3k =ik 1 1 21 .263
5 MO R =iR —%& 2 1 1 1 .200
6 B HEE |=3A EER (1) 1 1 .353
7 BE AKX =ik Plisind 2 1 429
8 Big 5 =iR A (2) 201 1] 2] 1 .250
9 FERETE PaER =iR 1 1 1 1 1 167
10 IR HRR F2 201 A67
11 L 1E—BB =R #®an 2 1 167
12 BB K— Plisind 1 .500
13 KB E A (1) —%& 202 11 1 231
14 F 5 —an ER 2 133
15 XA BX JEEBK EAX (3) 11 1 3 438
TOTAL|27| 70 3 7| 6 3| 3| 2  .284
BB RZy IR
I8 ABFITE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BRE | T R AR M & BEER
1 i & ER =an kxR Plisi S K& BA
2 A% Ak Bk #ETo ®0O 3 (15 4 2 1 2 4 563
3 EiT#& =i Pl g | Rz ax BiE 5
4 BT hA (3) hE R 1 702 2 1 600
5 i & FAR (1) ER =ano A KE
6 Ef1%  [==n 22 =R 2 10 3 |1 | 450
7 i T& F —an E#R IR (8
8 k1% |[—=oo FEBk —on 23 6 2/ 2 1 1 1 470
9 GiT&E E3:3114 2= (1) =ik
10 HTH ==n =iR ER (1) L]
11 Ak E3:314 =ik =i
12 EiTE —% PaER L L LT 1]
TOTAL
62/33 11 4/ 5/ 3 6 452




